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1IE #7543 f1 (normal distribution)
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€ (—00,00)
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fz) = — exp( <x—g>2) for 7 € (—o00, 00)

H ™ R 5% (Gaussian distribution) &+ FF
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f(x) NHERZEREBMTHAZEDIEH
o f(zr) >0 [FEALA
o LI'F,

/_O; f(x)der =1
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[ t@de= [ saenGar o700

Bl: flx) =2z, X =12,3] Q&= £ilE
dx = : dx = ! 2_3—5
/;Cf(az)a:—/2x:r—[§x 2—5

RIz g(r) = rIcLTHEDEEET 3.
dx

R =[V2,V3], f(g(r)) =r?, =2 1D T,

\/§ \/§
d 1
/ fg(r) 5-dr = / r? - 2rdr = [—7“4] =2
R dr V2 2 V2 2
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//fxydyda:—/

/@f(g(r,@),h(r,@)ﬂﬂd@dr

X

r=g(r0) X=gR0) ,_(5% %
y="h(r) Y=hR0)  \ & &

J :X3E 7175 (Jacobian matrix)
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Ebk:
g(r,0) =rcosf, h(r,0) =rsiné
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/_oo e~ dr = VT
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F(z) = —— exp ( (= “)2) for € (=00, 00)

o\ 27 202

AN / fx)de =1 Z@mI=92&EFTRT.

/o; f(z)da = 0\}% _O; exp ( (“32_05)2) da

2 o0
S exp (—’r2) dr
oV2T J_
_ T
=1 " \/50

de = V/20dr
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exp( (5"_“)2) for # € (—00, 00)
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Mx(t) = /_ e f(x)dx

eXP ( _ u)2 -+ ta:) dx
O’\/% 202

— ex r° — 2( +at:c—|— dx
0\/27T o0 p( 202{ (h ”})

2
{z—(n+0°t)} o212
= - t+2—)d
oV27 J oo =P ( 2072 THE 2 v

ey [ {2 —(n+o20)}
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N(0,1) IZ®LT,

o [-1,1]DEFEIZ#I68. 27%
o [-2,2|DEFEIZ#I95. 45%
o [-3,3]|DEFEIZ#999. 73%
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—BR I E(X) =pn, V(X)) =0c’DLE, X OBRTH
Y =aX +b [ZXLT

EY)=au+b, V() =a%0"
HIZX NERDH N(u,0?) IZHESEE, VIERSH
245 (FEBAITE RE)
Y ~ N(ap + b,a’0?)
WoT, BEEERZ = (X — p) /o BERTHIZHES
Z ~ N(0,1)

N(0,1) Z#Z#E1F 37 5> #h (standard normal distribution)
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B =
X OEEZERBH#N f(x) =t(Y) MEE, Y
@ﬁE%%‘}aFﬁly&g() MR T 5 SNBCEETRHE
dt
9(y) = f(t(y >>d—

EUk ERBEREAMDIES (T

X DNIERDH N(u,o ) [CHEDEE, TOHRBEEH
Y =aX + b [XIEERS

N (ap b,a202)
[CHESEZEERAE K.
b Y OREEEENEAAL




